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TrEPHE (S 104 5 £ 1004)

l.Let f:R— R beafunctionand L, M, c € R. Suppose that
lim,,.f(x) =L and lim,_.g(x) = M. Prove that
limy, [f(x)g(x)] = LM.

2. Suppose that  r is a positive rational number, and f(x) = x™ for all
x>0 . Provethat f'(x) =rx""1 forall x > 0.

X
3. Calculate lim,_,, G (3Y/* + 121/")) :
4. Calculate %sec3(\/§ tanVx — 1)tan?(sec(x? + 2)).

5.Let f(X)=(tanx)" forall xe(0,z/2). Find f'(z/3).
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(x—l)(x2 +1)2 X

x2+5x+2
x3+x%+x+1

6. Calculate j

7. Calculate [

o 2
8. Evaluate the integral IO e dx,

9. Find the interval of convergence: Y- 1(k+1)k k,

10. Use the method of Lagrange to find the maximum value of

f(x,y,z) = x —y +z onthe sphere x? +y2 +2z%2 =09,
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